M:thin English

Brain Teasers level 3 #14

Which option completes this pattern ?
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Which 1 digit number

completes the pattern ?
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M:thin English Brain Teasers level 3 #14

Answer to brain teasers

puzzlel: A
All shapes and letters move 1 place in the next square. The

letters also follow a +2 pattern.

puzzle2: 6
16, the middle cells, is half of the corner digits 3 and 2 (32).

puzzle3: 6
In each part, the 2 digits of the inner number add up to the 1 digit

number.

puzzle4: C
C of circle, S of square and so on.
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